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Jesus asked the group a question about 18 people Then Jesus told a parable: “A man had a fig tree,
who died when the tower of Siloam fell on them. planted in his vineyard, and he went to look for fruit on

— — it, but did not find any. So he said to the man who took
Use the code to fill in the missing letters. care of the vineyard, ‘For three years now I've been
O=A Q= P=1 @=m BH=0 [E=u =y coming to look for fruit on this fig tree and haven’t found
@-8 D=F ©O=J [I-N X-r O-v 0-z any. Cut it down! Why should it use up the soil?””
@HO O =G eu_A DH_HO m =S E =W Find 12 differences in the second picture.
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I tell you, no! But unless you repent,
you too will all perish.”




